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Answer the following questions with clear explanation. Each question is worth 10 points.

1. Inone school the ratio of teachers to girl students is 1:3, while the ratio of boys to girls is 3:1.
Find the number of teachers, boys and girls in the school if they are 104 in total.

2. Hari gave as many oranges to Gopal as he (Gopal) already had. Then Gopal gave back as
many oranges as Hari had. If each of them had 20 oranges after the exchange then find out
how many oranges Hari had to begin with.

3. One water pipe fills up a tank in 20 min while a second one empties it in 50 min. How long
would it take to fill up the tank if both were turned on at the same time?

4.  Find the two numbers if the sum and the LCM of the two are 72 and 160 respectively.

5. Anitem was sold at a price of Rs 25 with a 25% profit. By what percentage should the selling
price be raised to have a 50% profit?

6. Five different buses from Cuttack take five different routes to your village. From that point,
there are three different roads (tar, red-soil and river bank) to your house. If you take the bus
No 1, you cannot use the riverbank, and if you take the Bus No 3 then you can go home only
by the riverbank. Then find out how many different ways can you reach home from Cuttack.

7. We have a set of six consecutive numbers. If you mutiply the average of the first three
numbers with the average of the last three numbers you get 70. Find the sum of the first and
the last number of the set.

8. (a) “O”is the center of the given pentagon with five equal sides. What
fraction is the shaded region compared to the pentagon?

(b) If you take 6% of a number it equals to 0.15% of 20. Find the number.

9. The average price of 1 k.g. of rice and 1 k.g. of wheat is Rs 9.25. The average price of 1 k.g.
of moong daal and 1 k.g. of wheat is Rs 13.30. And the average price of 1 k.g. of rice and 1
k.g. of moong daal is Rs 14.55. Find the cost of each item.

10. (a) Use your knowledge of fraction to simplify the following repeated fraction:

1
1
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4
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(b) Find which one of the following products is closest to 1:

(@1.01x0.1 (b)1.01x1 (c)1.01x10 (d)1.01x100 (e)1.01x0.01



